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Q. 1. "Te
* acher "o
A) 5th May S day" is celebrated on

B) Sthojuly

chath September v
th October

Q. 2. Which
* of i ia'e hi
a3 the following is India's highest civilian

A) Bharatbhushan

B) Padmashree

C) Padmavibhushan
"Bharatratna \ /

Q. 3. Who is the author of the b
ook - "Natsamrat" ?
A) R,G Gadkari

.~
BAV shirwadkar o M 8 &
C) P L Deshpande e0 "
D) P K Atre E g :
2R
s ; r:
Q. 4. Who is known as "Iron man" ? Q € < n
A) MK Gandhi €22n
B) 8ardar Patel @) g >. : ,
C) Lala Lajpat Ray < 4 E o
D) Bal Gangadhar Tilak S 6 &=
» 828
Q. 5. Who discovered 'West Indies' ? 2 S
A).Vasco-d- Gama -

B) Captain Cook
C&, olambus &~

D) Marko Polo

Q. 6. Who amongst following can participate in the
proceedings of the Parliament ?

A) Cabinet Secretary

B) Chief Justice of Supreme Court

" C) Chairman UPSC
J%A{tiorney General V/

Q. 7. Giddhais a folk dance of . state.
A) Haryana
B) Hjmachal Pradesh

C)Punjab v

D) Jammu & Kashmir

Q. 8, Peacock Dance is a folk dance of
A)Tamilnadu

B),Orissa

C) Maharashtra

D),Kerala
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Q.9. The Capital .
A) Aman

B) Tepran
C) Ankara \/
) Muscut

Q. 10, Which amon

country's stock market
A)BSE

of Turkey is

& the following regulates the

qﬂQ-Tﬁﬁmm‘;ﬁWg?
p) FT
B) T
) ST
p) WERE

qpx.1o.%ar?ﬁmmﬁﬁﬂzﬁ%aﬁﬁw
farfrarfira AT € 7

A) s
ol .
: E C) TATAE
) R D) SCeE
- AT F
Q. 1v1. The Judges of Supreme Court hold office till they PEAL s i arg?ﬁ R
attain the age of--- & W_mmgﬁserq‘«'qt’?@ﬁ‘
A) S&vears ,& 'P"v‘ A) 58 T
BL6S5 years .~ ) B) 65 a9
*)Q?Q?q;"
years Q K & Ocoad
D) 62 years v 0&’ -Lv':p D) 62 @
\3
O PDo % gy 27 GERAT 2 7
Q. 12. A money bill can originate--- " Q#A\ % .12 Wﬁmqua o
nly in Lok Sabha ¢ f ‘ »'e, A) R e &
B) OnlyTn Rajya Sabha X lq B) %Wﬁa e 3
C) Lok sabha & Rajya Sabha Both j@‘to‘\‘ C) SrehEdT T Tead mr—.‘l'rﬁ 7
D) None of the above q>° D) Iud<h & & s TG

Q. 13. Which is the apex organisation for industrial

finapce in our country?
Auéﬂl_‘/

B) HDFC .
Q) Icici
D) SBI (Industry)

Q. 14. An orange is a rich source of -
A).Vitamin"A"
B) Vitamin"B" ‘
- ) Mitamin "Ct v~
D) Vitamin "D"

Q. 15. The adult human skeleton consists of --- number
of bones

A) 228

B) 240

C) 19

D),206 v~
A—

Q. 16. First woman IPS officer who won a Magsaysay

awayd is---

iran BedL/
" B) Usha Sharma

ClIndira Goswami

D) Jamini Roy Y

A D EMm\s
\'AJ “uguntaA;‘&D AT
Ne® .y d \"JAY 552
clure WDRC: L 525
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77,13, gAR ¥ ¥ denfiw B F R R
e hAar g ?

A) TSt

B) TETTwY

C) sréetemswtems

D) THeteng (U

.15, IUEF AT FEA § gigal ft de
Bt g |

A) 228

B) 240

C) 198

D) 206
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D) Stfarft <t



Q. 17. V.P.P. stands for
A) Value Pre Paid

2 4
VV ACADEM s

unta SW"Oﬁ'

. ) om BEDE, VLIAYAW 2
Bl en: 998852557

/,' B)Xalue Payahle post \..""
. . C) Vet Packet Post

D) Value_Post Paid

Q. 18. A term generally applied to state enterprises of
undertaking is known as
AXGovernment Sector

B) Multi National Companies
uhlic sectar &

D) Corporate sector

Q. 19. A state capital which is famous for Ling®?

temple

A) Hyderbad
B) Bangalore
ClChennai

3{2{0: Stock exchange market in Mumbai is known 25

AlDalal Street _~ - N
nd street . ;5°q ;
C) Thumba street e ;-‘é-’”f
D) Taj Street g
SR
ST
Q. 21. The Indian Civil Services was. ir@@ﬁ during
S =n
the rule of v 5 oo
A)Lord Minto N <= S°
. B Lord Ripon & ! Se
Mrd Cornwm_‘/ e 3
D) Lord Curzon )

Q. 22. The head quarter of Sangeet.Natak Akademi is in

A)Kolkata
B) Mumbai
CONew Delhj
D)Bhopal

Q. 23. Kathakali is a dance form from

A)Kerala

), Uttar Pradesh &

ndhra Pradesh
D) Tamilnadu

Q. 24. The train which covers the longest route

épprox!y 3276 K.M. is
A) TayExpress

.C) Chetak Express 7
D) Ashram Express
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75,23, TAFAT TGt ol e A & 7
A) ¥ i

B) STTIEAT i

C) STFErvaeT i

D) af¥erTg &t

.24, TAAT 3276 THHY FT ToH =1 T
FAATAT LTS e & 7

A) TS TS

B) e wres
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Q. 25. "Jatra" is a folk dance drama popular in villages

of
A) Jarfhmu & Kashmijr

BJWest Bengal "

CJ Rajsthan
D),Gujarat

Part B - Mathematics

is
A)7
B)8
€) 10
D)9

Q. 27. The s‘ur.n' of two numbers is 97 and t

difference is 37. What is the product of these two

numbers?

A) 8040 .o
B)) 2010 &~ o e;" <
g TSN
D) 1914 &) 2

I o
Q. 28. If a watch runs 5 minutes fast peg&a Wany
percent does it run fast? U .3,,,
A)5/144 %,V co o f Ju :

5% a—— [-
0)1/12% vy P
D),5/24 % >ga &

¥
g
Q. 29.LCMof25,30and40is__ W
A),600
0
C) 250
D) 240

Q. 30. Which of the following will not come in unit

place of a number which is a perfect square?
A) 4 '

B)O

_Q2 &
S DJ1

Q. 31. What is the raio of 15 minutes to an hour?
Aa:l

B)3:10

Q1:4.

"D 15:1

Q. 32. Rs. 800 were divided between Mahesh and
Shyam in the ratio 3.: 5. How many rupees did Shyam

get more than Mahesh?
A) 40
B) 70

C) 100 .
ny200 ¥
TN
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Q. 26. The number of prime numbers between 20 & 60

o7.25. ¢ ST " T A e s

W%l T‘qmgsﬁ' ...... %ﬁma"rﬁ-
A) ST TF FHIX

B) a2 dTTet

C) TSTEATT

D) et

«TT B — it

73.26. 20 3% 60 F i iy S et &
A7 Pt srvrem I § 2
B) 8

C) 10

‘D)9

.27, A HEATA &7 T 97 2 2T Sy 3
i e Tfrr - FI3I7 Y
A) 8040

B) 2010

C)2128

D) 1914

w7.28. AR wF T 9 5 frre o w8, @
7g e sfver et wedi 2

A)5/144 %

B) 5%

01/12%

D)5/24 %

°0.29. 25, 30 T 40 FT AR THTIAAT T § ?
A) 600
B) 300
C) 250
D) 240

7:7.30. A & ¥ SiAY deqr 9@ e TR &
AT I Tl MG S g 9 § 7

A) 4

B) 0

02

D)1

57,31, 15 Fe 7 TF 9 ¥ U Fng ?
Ad:1l
B)3:10
O1:4
D)15:1

Y57.32. W T SO ¥ 19 800 T 3:5 % IATAE
F 97 7T | T A aee & e Tl saray e ?
A) 40

B) 70

C) 100

D) 200
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Qf. 25. “Jatra" is a folk dance drama popular in villages
o

A) Jarhmu & Kashmijr

B West Bengal "
ajsthan

D),Gujarat
Part B - Mathematics

Q. 26. The number of prime numbers between 20 & 60
is

A7

B) 8

€)10

D)9

——— .

Q. 27. The sum of two numbers is 97 and theil
difference is 37. What is the product of these two

numbers?

A) 8040 N o il
8)2010 & E gﬂ
128 s‘Q < »n
DL1914 Q) R un
“

percent does‘Lt,run fast? o
A) 5/144 9 &
"fr‘)sy 5o, TIye
(] A n
0)1/12% |28 &
D),5/24 % >

Q. 29. LCM of 25,30 and 401is __
A),600
0
C) 250
D) 240

Q. 30. Which of the following will not come in unit
place of a number whith is a perfect square?

A4

B)O

c% 2 &«

> 1 .
Q. 31. What is the raio of 15 minutes to an hour?
A4l
B)3:10

Q1:4.
D1§:1

Q. 32. Rs. 800 were divided between Mahesh and
Shyam in the ratio 3.: 5. How many rupees did Shyam
get more than Mahesh?

A) 40

B) 70

€) 100 .
D}200 v
—“"
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w+7.26. 20 37T 60 % = Fraet srrrerr g &
A) 7 \Q?
B)8

C) 10

D)9

o7.27. Y HEATS T T 97 i< 7o o< 37 8
| T Y FETER T IR T E 7 <
A) 8040
B) 2010
C)2128
D) 1914

T57.28. T Tw oY 9T 5 e I wo€ 8, 9
g T wftve = == & 2

A)5/144 %

B) 5%

0)1/12%

D) 5/24 %

S.29. 25, 30 T 40 FT TR TATTAAE 3T g7
A) 600
B) 300
C) 250
D) 240

5530, e ® F el gET 39 e § WS §
TIT T 7} A AT L& a8 7

A) 4

B)O

02

D)1

w3731, 15 T T TF e Y g T ?
Ad:1

B)3:10

01l:4

D)15:1

.32, TR T CIT 3 41 800 T 35
F gt T | T A AR ¥ e = s
A) 40

B) 70

C) 100

D) 200
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y; Q. 33. In a cricket match, the average of the runs made
/ by Raju, Shyam and Hari is 7 less than average of runs
made by Shyam, Hari and Kishore. If the number ©
runs scored by Kishore is 35; then how much did Raj¥
score?
A)7
B) 14
Q)21
D) 35

LN

Q. 34. On dividing a certain number by 357, the
remainder is 39. On dividing the same number by i
What will be the remainder?
A)S
B)3
Q7
D)6
Q. 35. A cistern has 3 pipes A, B& C. A& B can fill e in
3&4 hours respectively, and C can empty it in 1 hour-

* the pipes are opened at 3 p.m. & 4 p.m, and B p-M
respectively on the same day, the cister iggbgemp‘y
at- .29

AL7.12p. &) 5:
B% 7.15 p-m., Q g:; ~
. C)7.10 p.m. ‘ I aab
D)7.18 p.m. on O3>«
S33°
Q. 36. Successive discount of 10%, g%j'rgsﬂ% will be

equivalent to a single discount of - 5

v £
. . W

0)0.8

D) 0.56

-~
@
©

Q. 37. 60% of the cost price of an article is equal to 50%
of its selling price. Then the percentage of profit or loss
on the cost price is -

A) 20% loss

B) 16% loss

C) 20% pro

D)lo% loss

Q. 38. The areas of three consecutive faces of a cuboid
are 12 cm?, 20cm?, and 15cm?, then the volume of the
cuboid is -
A) 3600cm?
B) 100cm?
C) 80cm?

D}GOcm3
— ——
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srvi.33.ﬁﬁizﬁ=@ﬁ?ﬁ :

i 35 ohe & 7 9 & 1 A PR K o g
et 35 &, T T T FRas o am 2 "
A7

B) 14

021

D) 35

wr.34. Rt @E & 357 ¥ i = w
FUFT 397 | IEI g A 17 ¥ vyl s w
QrerReT AT BT 2

A)S

B) 3

07

D)6

w9.35. TF R F 3 qrEw @, Y g T | guE
T FAM 3G 4 A Ao § AT sy 1 e |
ATl F GHAT 1 T IS TF ¥ RA FHAL: 3, 4
Td 5 a9 AYTET HY Gy oY &, A & e T
YA T GTAT BT ST -

A) ITET7.12

B) & 7.15

C) qTreT 7.10

D) e 7.18

557.36. 10%, 20% TF 30% T SATTHTHD FE covvveen Es
T Fe F T gRIT |

A)0.36

B) 0.64

0)0.8

D) 0.56

57,37, T aq F AT FT 60% TaF AmA-wA
3 50%  TCET | A FA-ET T T A TR W
gfqea =g ?
A) 20% gIH
B) 16% BT
C) 20% &

D) 10% &R

7,38, T TATH F A HIAS Foreht B HTHA
cm?, 20cm?, T& 15cm? &, T IH AT A
wTE?

A) 3600cm?
'B) 100cm?

C) 80cm?

D) 60cm®

1
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Q. 39. Th
e difference between the compound interest

and si g

is Rs 3;1D|G interest for the amount Rs. 5000 in 2 years
- The rate of interest Is -

A) 0.05 '

—Bloor
o1
D)0.12

Q. 90. In an examination 35% of the students passed

and 455 falled. How many stuents appeared for the
examination?

A) 490
B)y700

""tﬁ'gas -

D) 1300

Q. 41. If x% of y is the same as 4/5 of 80, then the valu€

of xy is

A) 320 . o

B) 400 ~ ® 9
S QN

G¥640 R
AN

D) None of these ~ 2 E

+ Find the profit percent.

o~ T
A) 66(2/3) Tg e
B) 100 SO0
.—-——""— n -~
) 105(1/3) o8 5 5“
D),120 =23

S

Q. 43. Two numbers are in the ratio of 1:2. If 7 is added
to both, their ratio changes to 3:5. The greatest
number is:

_ N8
Baa
C) 26
D) 32

Q. 44. If 18 binders bind 900 books in 10 days, how

many binders will be required to bind 660 books in 12~

days?

A) 22

B) 14

C)13
D)1l __

Q. 45. Which is the greatest one of the following
numbers ? '
A)(2+2+2)?
B) (2x2x2)?

__ OA(2+2)

TE
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7,39, 5000 TOT H TR % Ry 5 e
mahtmmmmmamgzhﬁmw .
A TR T oy

myT
A) 0.05
8) 0.08
c)0.1
D) 0.12

7,40, TH TOET § 35% RSt oot T e 4
i g1 e ¥ By ekt s gy
A) 490

B) 700

C) 845

D) 1300

ger.41. afe y T x% T@r & ST 80T 4/5 %, AV xy =y
qer Far § ?

A) 320

B) 400

C) 640

D) T & FTE AEL

.42, 7% R gea B AT AT S, 9 s
AT 2 straT & 1ere wfdgrd 7 |

A) 66(2/3)

B) 100

C) 105(1/3)

D) 120

97,43, &Y TEETT 1:2 F T ¥ 3 | AR A H 7
ST ST &Y IR ST 3:5 F Gieatad g1 star §
| ST § & 9y s e g ?

A) 28

B) 24

C) 26

D)32

T7.44. TfE 18 Rrecam 10 BF 7 900 Tt W
free =81 &, @ 660 Teawt *r 12 & | T
=g & forg foray e &id ?

A) 22

B) 14

()13

D) 11

w5745, Freterte § & Sy Gea gad a2t 87
A) (2 +2+2)?
B)(2x2x2)?

O [(2+2)?
D) 43
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Q. 46. A number i
aumber. If their sum is equal t
of the twoO numbers is -

A) 105

B) 68

c)72

pe3

Q. 47. In an exami
failed in Hindi, 45%
wWhat is percentage of t
subjects?
A) 20
B) 10
C) 30
D) 40
I
Q. 48. The HCF of 25, 30, and 40 is
A) 10
_ms
- 08
D) 12
__@.Q;W
Q. 49. The least num
to makeita perfect squa

A)30
B)36 -
)32

D)38

i

reis 5

Q.50.8:3=312:?

A) 108
B) 117 -

C) 112 .
D) 122

part C - English Language

Choose the most appropriate w
55)

51, Last year's examination Was ...

AMuite
B) fairly
c)very -
D) rather

52. You have some hoOKS fOr ME,ueeereuesses

- A)ign'tit?
_g)"{aven't you?
C)aren't you?
D) are they?

Scanned by CamScanner

ber which must be ad

s three less than 4 times another
o 117, then the greater

nation, 35% of the total students
failed in English and 20%
he total students passe

in both:
d in both

ord from the given options

harder.

.....

e Frea el o s w =
\ ﬂ‘ﬁ'mm117%ﬁmé %l:-rj@
53 ad HET Y7 Wy AT T

g’ﬂ;\'.46.
F9 &
Fearet
A) 105
B) 68
) 72
p) 93

s rfver 3 g Frenfidt ¥ go Rt
.F"f?%.m“w’%qﬁm%aﬁﬁ
| gt et 3 SO @ g et w athaa
a8’ ;

A) 20

B) 10

C) 30

D) 40

wq.47-

57,48, 25, 30 TH 40 FT HETA TATTAA T & ?
A) 10

B) 5

)8

D) 12

57,49, 1728 & e & & Fmdt <Laad T SrsAl
arfRy f g g & ad s ? ,
A) 30
B) 36
C)32
D) 38

T5.50.8:3=312:7
A) 108
B) 117
C) 112
D) 122

to fill up the blank in the sentence (Question 51

page 7



53. | was upseton hearing the

A) good

§)/sad
C) bad
p) mad

re today-

54. An exhibition......the new trends in lighting opened

A)on
B)into
c)of
D) for
.out aiready:

55. When he reached the doctor's house he ...

A) went .o
B) gone o
C) has gone "
D) fad gone w
/ m
o~
For Questions 56-58 Change th "
"
56. He teaches Us grammar - :‘
o
A) Grammar was taught to us &
ght grammar b 6

Me are tau

cTwe were teache gra
D) Grammar will be teac

mma i
hed to us bgﬂm

57. Someone saw him picking up a gun

A) He was seen pick up a gun by someone &
ofe

Bﬁe was seen picking up a gun by some
C)He is seen pic mng u someone

D) He was seen by someone pick a gun

58. Let me do this

A) Letus do this
B) This is to be done by me
C)fet this be done by me

D) Le o this
' d

esses the meaning of the idiom/phrase.

For Questions 59-61: Choose the alternative which best expr

59, To give/get the bird

A) To get the awaited
ave a good luck

60. To draw long bow

A) To overestimate oneself
BL.To put up high demands

Pi
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c) To demand a very high price
\[p)fo make an exaggerated statement

61. To wrangle over an ass's shadow

A)Toactina follish way
B)AO quarrel over trifles

C) To waste time on petty things
the alternative which is most nearly the same

D) To do something funny
o0s€
questions belowr 4

For Questions 62-64: In each of the

in meaning to the given word.
62. Cease

A) Begin
B)slop |
C) Create -
A L pY
3 9\‘\'3\5‘

D) Dull L
] . SR - \)
LAT o e

63. Pious
eligious w
“B) sympathetic . eWiC oW
c) Afraid
.D‘)/Faithful

64. Cancel

A)Abolish
B) Approve
C) Allow

D) Break
choose the alternativ

jons 65-67: In each of the questions below,

For Quest
word.

meaning to the given
65. Obscure
A) Implicit
B) Qbnoxious
xplicit,
D) Pedantic
66. Acquit
A)/Retreat
gYyConvict

) c) conceal
D) Deprive -

67. Bitter

A) Blunt
B))Bold

C) Disappear
weet

Scanned by CamScanner
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ds h?
e wor
me of ﬂlhu planks w

llowing passage 50
anin

Dlrectlons(68-70):- in the fo
s about. Then

over and try to understand what it of will AV

most people are 68 __ paif'

"One of the reasons ic that g
the attempt in de

by the _69 difficulties and _70__

68.

A) lack

B),deserving
c) lacking
D) shortage

69.

A) initial -

Bi Tirst

c),foremost

D) latest ¥

, , b\v\

70. AV Tigee'®
4, d ,,C et =\$

J
A) takes Up G 3
B) gives up p" "f.'.‘s 32
'Cﬁgﬁ?‘_n’/ ‘m 9

D),accept
.. 5 questions following the passage - Read

e one brief passage with '
tion out of the four alternatives.

(71-75):- You hav
t answer to each ques

Directions
e the bes

carefully and choos
e a frustrater of life; it can

not b
f living which are no

ce that a city need n%"
for producing possibilltles o
d drasticp!2

reula

The first step is for us to reali
mechanism for enhancing life,
cities. But, for that to happen, deliberate an
their systems of organs-thosé for transport and di
organ systems for recreation, |eisure, culture, commu
easy access 10 unspoilt Nature, peauty in parks an
recreation grounds in planty, central spaces for celebrations an
concert halls and theatres and cinemas that belong
dumped down anywhere; both they and their grouping

the place.

71. Cities can be made to provide full facilities for life, onlyif:

mechanically developed. ,
rt system is introduced.

es and concert halls are established there.
y designed to serve people's needs.

A) these can be
|§) proper transpo
t) cinemas, theatr
W‘l vigorous!

72. A suitable title for the passage would be :

A) Towns versus Animals.

B) The Need for planned Cities.

TJ Transport and Communication System in a City.
D) The Need for Entertainment Centres in a City.

Scanned by CamScanner

eakminded per

t to be realized ex
ch as animals, must have

What we need now are
dance of open space,
d swimming baths and
s for citizens' meetings,
t be built anyhow or
to the people of

nning is needed. Towns as mu
tion are an obvious example.
nity expression. This means 2
d in fine puildings, gymnasia an
d demonstrations, hall
to the city. And the buildings must no
s should mean something important

e heen left out . First read the passage
ith the help of the alternatives given.

<on is frightend away

the passage

pe among other things, 2

cept through
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73. "A dity nead not be a frustratel of life” means that
ts fro™ a,c'w'

A) one doss not expect fulfilment of all life's requirem®
ssential needs of life.
ing: d aims-
t

B) city life provides ali the €
€) a city does not necessarily lift man's standard of V"2 s 20
D) a city should not defeat the fulfilment of life's aspir® .
1o the word 'frustrater’ in the passage?

e meani"

74. Which one of the following has the opposit

A) Promoter

Applauder
C) Approvar
D) Exscuter
down anywhere"...the statement implies that building :

75. “The building must not be built anyhow or dump€
A)‘Shculd be built with suitable n}aterial. ) SesiEM not indiscriminately.
B) should be constructed, according to somé suitable

C) should be scattered to provide for moré of open spa
s to enjoy nature-

D) should be built to enable citizen
: w17 D - T% Si< [AFTene
part D - Reasoning and Analytical Ability i< fagmones gaat
Directions (76-80) - For each of the followin8 __ﬁ’_’-__‘_Uf_ffO)_j s e 5 5 ST FEgT
L3 i W‘m"‘ﬁ't-——-"‘m,zﬂ e ;1—3\5-533;—,:
= S 27 oo ¥ F 99E 8l

rtain relation between the | o &
“ggl 9ay ;@ Q4 s

questions, there exists a ce
swo terms to the left of == and the szme relationshi?- T . s 3
exists betwesn the two terms 10 its right. In each of TS ORI A S EA T -
these guestions the fourth term is missing, which i = IS T TS sxmiiTa R | N
one of the options given below the question. Find the
correct term.
76. Walk:Run::Breeze:? 76. == EEAT S ERIC: 7
AL, Cold A) ==
g)  Fast 4 B) %
g windv” v a =
p) Air Vet o, O
e e; ? 3")
77. DGJ:KMO::MPS:? Origte? 7 DGJ 1 KMO :: MPS :?
< Y’\s&?‘\) i

A) s TVX <4 o‘ (g ” A) TVX
B) Wwus o’ B)  WUS
Q sw J.) ) Ssw
D) XVT D) XVT
78 7:131::31:7? 78. 7:11::31:?
A A) 36
g’ ;; B) 39
D)/ pod qa 37

e D) 43
7S. -t ?

Y 79. «:idc?
A <
3). /l\ A) &<
C) A B) T
o)/ 1 Qg 7
p) ¢
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80.
A) -
B)
C)-
D)

81, '

A)
B)
c)
D) ’

82.

A)
B)
)
D).

83.
A)

' B)n’
)
D)

84,

A)
B).
C)
D)

85.

A)
B)
c.
D}

86.

A)
B)
C.,
D)

Dark : Light : : Black : ?
White

Night

Day

Dark

Which of the following I different from others?

Stone
Lime
wall
Cement

Which of the following is different from others?

Lions-Roar
Snake-Hiss
Frogs-Bleat
Bees-Hum
Which of the following Is different from, othc\a:s‘?
BCDE 5\9'\ g Bl
WYZA 7 P Ot ,\\N

-ﬁ 3 1
bt 3 :J c““‘; A “‘{1 559

9
Which ofthe?ollmﬁﬂ“ns different from others?

5
11
7
9

If in a certain language 'HAPPY' is coded as
‘GBOQX', how is 'CROSS' coded in that language
? .

BSPTR
BSNRT
BSNTR
BNSTR

I walk 30 metres in the North-West direction
from my house and then 30 metres in South-
West direction. After this | walk 30 metres in
South-East direction. Now, | turn to my house.
Now in what direction am | gaing?

North-East

North-West

South-Fast

South-West

Scanned by CamScanner
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80-
A)
B)
c)
D)

8l.
A)
B)
C)
D)
82.

A)
B)

D)

83.

A)
B)
)
D)

84.

A)
B)
C)
D)

85.

A)
B)
C)
D)

86.

A)
B)
C)
D)

ja.{r:qaw‘rﬂ::wm ir
qbe

d

T

e

a—gﬁﬂaﬂ?{m@ﬁ@rmg?

qed<

5l
CICIRS

die
Frer # & I &7 qEdt & FET 4P

Rig-Teid
qI-FHHIL
Her-FfegTar
BN

Frer & 7T T gt & e 22
BCDE
WYZA
YZAB
PQRS

e ¥ & YT a7 gAY AT G2

5
11
7
9

foeft s & 'HAPPY' #F 'GBOQX' F &I H
Feax far s g, a o' Wit § 'CROSS!
B eI g ?

BSPTR

BSNRT

BSNTR

BNSTR

# o WX SRR e F 30 e e
ﬁ?{aﬁmqf%wﬁ:srrﬁwtﬁaaam:,
T ¥ AT & afer o R 30 whex e
HEES ﬁmwﬁmmal a1 & Rey
Rerdsrwrg?

SR

SRR e

SEUE

zferor-afing



ﬁm@qﬁﬁﬁ%%lvw .

. 87.

87.  Six students are sitting in @ row. K is sitting FoTg | M%‘mﬁva_ﬁ% TR & fiy
between V and R. V Is sitting next to M. M s B ¥ A A M 327 £ o R%mﬁ?"n‘a‘a
sitting next to B, who is sitting on the extremé v irﬂ%aﬁ"ﬁ'ra%g; T H Q &y
left and Q is sitting next to R. Who are sitting.
adjacent to V? RTEQ

A) Rand Q . 2; B qu M

B) B and ;

C) Qandll\:| = ?AQQZT(

D)« MandK )

¥ g =

88. If6%5=31,7%8=57,3%4=13, B $6*12;21’7*8=57'3*4=13:
th » = )

A) goeng 10=7 A) 90

B), 91 B =

o) 81 C) 81

D) 89 . D) 89

Directions (89-91): Five persons are sitting in a row. i}’féi_ig%l): = FﬁTr L s 7 45 g1

One of the two persons at the extreme ends is i A = .E af § § T & §

intelligent and other is fair. A short person is sitting t0 SRR -é,' TF @ler =he Th

the right of a weak person. A tall person is to the left ' 2 < e & T AT doT g1 TE =T
of the fair person and weak person is sitting between ATETTN 3 F 18 AT ¢ @ik FH=K
iR glgam ik g srledt = der1 )

the intelligent and short persons.
89.  Which of the following persons is sitting at the 89. Moy safRedt & & w7 5 A do1§?

centre? '

A) Intelligent A)  Fgww

B), Short B) @

C) Fair , C)  arEww

p) Tall _‘s**.p)%. T

LY &

90.  Short person is sitting on whose left hand‘;a’éb\:‘rog?- e syis e aTg grer Y A 43T §?

A) Intelligent s 0@"‘7' ”d)"\ e

B)  Short P 99\3' 4> B)

c) -Fair ) 0* 3 .’ C) QTETIT

.’ ) .

D), Tall 4! : .. D) & _

91. If the fair person and ﬁ*t person 91. &NIX ATET SARR X el Afw S
exchange their position, so also tall and weak, Ruf sreem-acel #4 7, SAT a<g =T AL
then who will be sitting to the left of the weak e off, @ S FASIR SARe & arg AL
person? FAT FET?

A) ~ Intelligent A)  gfgEe

By  Short B) QT

€  Fair c =

p) Tall D)  ®ar

92.  If N is the brother of B, M is the sister of N, J is 92. aRBWAENE NFTGIME, P T ATS
the brother of P and P is the daughter of B, who JgeikB HIHFPE AT FrETRA B?
is the uncle of J? _ ' ‘

A) B A) B

B) M B) M

g P c P

D), N D) N
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fFar (93-96) - ¥ T, Ao a

Directions (93-96) — These questions are based on the f & ST g g, 5 T p & “T‘ e &,
following diagram, in which there are three a7 T & TT S AR oy ?ﬁ;w% | iy
interlocking circles, |, S and P where circle | stands for a2 1 a ¥ [ TF ¥ wer m%ﬁ?‘;f;\ 3

Americans, circles S for scientists and circle p for CE -]

politicians. Different regions of the figure are letters

fromatof. _
1> A
1> m &S v‘ &S
(S SN,
P Frafed ST Ay 93 e g
Read the following statements and find out the letter S ST T ] I. AT I ¥ 9y U A

of the region asked in each question.

93, a’&’@lﬁﬁﬁ&ﬁﬁﬁﬁ?ﬂﬂ%ﬁﬁama

93. The region which represents the Americans, ST e At
who are politicians but not scientists? - . % axg EENDED :r@ %?

A) f B) G

g)) & Q A

D) b D) B

94. The region which represents the scientists, who 4. Zigr BT S éaﬂﬁﬁ T Wﬁﬁ'@a FAT B,
are Americans but not politicians? AT § g TroraT G &2

A d A) D

B) f B) F

C) a i1 C)) A

D) b RGICI.

™

ALYy &
Ay gu2 .
95. The region which represents Non-Ame@Qﬁﬂb&ﬁ‘%% g & ST iR i AWt &

scientists, who are politicians? Pl ‘v-";-f’ ST TR T g, S Tt &2

O 2 A B
A SO
) f 3 ‘\0 . Q‘,
0 d Qe o o
D) -a ~ 9 D) A
96. The region which represents @eﬁ\s, ‘who 96. 9y & S st & wifiee v g,
are neither scientists nor politf#ans2." ST AT Y AR § iR AT T 2
A) c el F A) C
B) g y B) G
c) e c) E
D) a D) A

Directions (97-100) — In each of the question below is RTer (97-100) - Y TAF wATA H TH FIAA F A8,

given a statement followed by two conclusions land Il. = gy fesd | 3 11 T 7o 1 enant o 9 we g

You have to assume everything in the statement to be e B it FouAT FT, T el Hv O qry ICELEN

true, then consider the-two conclusions together and F PAofg AT g e | FIET Tog ¥ T RUETH
decide which of them logically follows beyond a TG T FAT F & TS STAHIT 3 IIOH T8 AT
reasonable doubt from the information given in the i T@E Wy F o R g AwaEt § T W
statement and choose one of the options given below = ¥ |

each question.’
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97.  Statement: Parents are prepared to pay any
price for an elite education to their children.
Conclusions (1) All parents these days are very
well off. (l1) Parents have an obsessive passion
for a perfect development of their children
through good schooling.

A) Only conclusion | follows

B) Only conclusion |l follows

C) Neither conclusion | nor 1l follows

‘D) Both conclusions | and Ii follow

98.  Statement: Morning walks are good for health-
Conclusions (I) All healthy people go fof
morning walks (I1) Evening walks are harmful.

A) Only conclusion | follows

B) Only conclusion Il follows

C)  Neither conclusion I nor I! follows

D) Both conclusions | and Il follow

09, Statement: This book “Z” is the only booK

Which focuses its attention to the problem of
poverty in India between 1950 and 1980-
Conclusions () There was no question of

with poverty in India during 1950 to 1980.

~J

97.

99.

Y e 9% TR e R woh 2 o
PR ";'7 n RAS o EqTT - [y ‘% >
7 G A, 1050 & S A v A e &

poverty before 1950. (I} No other book deals D

28
2

4
-

A ATAT-Fe sy e
pi AT Ay -

)i'\a“”7.- = R7 EiG vy
?‘rﬁ - a8 "ﬁ 'ﬁ'ﬂ"f Ty 17;:1’;:': T T"T
.o () 7T 1y frpogy o i». N AT 4
% \ (") W:ﬁqrﬁv 51?{ .n .-{I‘\"Z'F? ’Fﬁ
AT e & oy & AT Y B sy

B ar | ETE Tt W afoy
Wﬁ'@ﬁlw%

Fa e |1 st &
Hﬁjﬁﬂwlqg}“m%

AT o | o e &

'(?‘)a:‘ﬁﬁﬂ?q‘za?ﬁvﬁﬁﬁl
ST &1 (1) 7w iy 87 b ‘
T o | arar 2 -
Wﬁm&nm%
a:—cfr_f‘?rmﬂa:@uw%

AT e | efe o &

W:?{ﬁﬁﬁ’:‘é@'"@wﬁﬁﬁ‘gﬁﬁ
1950 3T 1980 ¥ #r=r wrew ¥ TEA A

S (1) 1950 ¥ 1980 F e FTE W

. T8 NG o 6 SRA & T & s 7 &
A) Only conclusion | follows )8 \‘gﬁ&- Fae fead | amar
B) Only conclusion Il follows o .2?4 Fae g || T
C)  Neither conclusion | nor Il follows A 'é’.b'q. FarfRerd 1 T sy
D) Both conclusions | and Ii follow A O o wD) =t et sk :
: : Qg Q\\. i \ || ara 8
e 3 =
100. Statement: Some trees are boxes, affb@‘eﬁ 100. FAT : Y A T 3, o1 T 1§, AW
are bricks and all bricks are dogs. Conclui®ons Tdt £ g ﬁﬁﬁ () T= T E;Q-: g1
(1) Some dogs are trees. (ll) Some bricks are (T I o
trees.
A) Only conclusion | follows A) et Fread 1 e ¥
B) Only conclusion 11 follows B) Faer Rewd 11 arar
c) Neither conclusion | nor Il follows C) Fa Ao | 7 s
D) Both conclusions | and Il follow D) T e ) o || e §

* % ¥
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